
LINNEA
SOLSKYDD

A
R

T.
N

R
 0

5
0

77
6

 D
O

C
.N

R
: M

I-
0

0
8

8
 A



>7m

2280,00 mm

1596,00 mm

A13

A14
A15

A11

A11

A12

A12

3MM13MM T25 T30

Solskyddet måste träskyddsbehandlas med färg eller olja innan användning. Detta görs bäst innan montering.
Solskjermen må behandles med trebeskyttende maling eller olje før bruk. Dette gjøres best før montering.

Aurinkosuoja on käsiteltävä puunsuoja-aineella maalilla tai öljyllä ennen käyttöä. Tämä tehdään parhaiten ennen asennusta.
The sunshade must be treated with wood protective paint or oil before use. This is best done before installation.

13MM

2



Måste förankras i mark
Må være forankret i marken
Pitää olla kiinnitetty maahan
Must be anchored in the ground

!

!

FÖRSLAG PÅ PLACERING / FORSLAG TIL PLASSERING
EHDOTUS SIJOITTAMISESTA / SUGGESTION FOR PLACEMENT

1

1+1

1+1+1

3



660 Benämning/ betegnelse/ nimitys/ designation pcs

A1 Bricka 25

A2 Justerskruv 8x30 4

A3 Vagnsbult M8x60 16

A4 Vagnsbult M8x100 9

A5 Mutter M8 25

A6 Islagsmutter M8 4

A7 Täckplugg 24

A8 Träskruv TFT 6.0x80 4

A9 Träskruv TFT 6.0x100 8

A10 Träskruv TFT 6.0x160 4

A11 Solskydd Vägg 2

A12 Solskydd tak 2

A13 Distans 4

A14 Distans 4

A15 Distans 2

4



0201

01

13MM

03

03

MONTERING/ MONTERING/ KOKOAMINEN/ ASSEMBLY

Bygg ihop liggandes och lyft på plats
Bygg sammen liggende og løft på plass
Rakenna yhteen makuulla ja nosta paikalleen
Assemble lying down and lift into place

3X
A1, A4 ,A5

3X
A1, A4 ,A5

2X
A6

2X
A2

A11

A11

A12

A12

01 02

03 04

5



05

50mm50mm
4X
A8

2X
A15

06

06

06

A7

07

08

3MM

1+1

Lyft på plats. Räta upp med hjälp av vattenpass och justerskruvarna A2.
Løft på stedet. Juster med vaterpass og justerskruene A2.
Nosta paikalleen. Suorista vesivaan ja säätöruuvien A2:n avulla.
Lift in place. Align using spirit level and adjustment screws A2.

A7A7

05

06

6



2X
A14

4X
A9

2X
A13

2X
A10 T30

07

08

T25

7



A1, A3 ,A5

A1, A3 ,A5

1+1

8


